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1. You are a secretary for a large public firm’s CEO. Your boss and you are currently
sitting in the congress hearing about your company’s recent practice. The hearing is
not going well. Your boss is still hung over from last night’s party and obviously not
in his mind. The congresswoman scolds him harshly for your firm's high debt capital
structure. She said “Firms like yours use high debt mainly to create tax shield| ;
However, the high leverage is irresponsibly putting the firm in potential danger of ™ = ~
financial distress. The firm is not only subject to the direct and indirect cost of financial
distress, but also has chance to deviate from the optimal investment decisions. For
example, lots of distressed firms suffer from the underinvestment problem or risk
shifting problem.” Although you sort of enjoy watching your boss being hammered,
you also read from his face that he needs your help. “Here it comes again,” you say to

yourself, and start to write a note for him to get out of the situation. (/)48 14

)

Note: Just like the last time you helped him on the homework from his EMBA class, you
need to use short and clear argument to demonstrate the intuition behind the idea.

a) Explain the basic idea of the underinvestment problem and risk shifting problem.

b 27 )

b) With reference to the trade-off view of capital structure (this is the only story about
capital structure your boss can possibly understand), describe the basic idea of two

benefits of debtother than tax shield. (st/]-%& 7 4)
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8. Please prove that, other things equal, a bond’s duration is higher when (a) its
couponrate is lower, and (b) its yield to maturity is lower. (tb=E 12 4)

9. Please prove that other things equal, the longer of the time to maturity, the more

valuable an American option. (57 8 )




